Equal 9 step grey scaling betweeb* gn=22.3 andL*y5,=95.9, Yoret=0.9, normalisation greyU

L*0anF22.3,L%0a=59.1,L* 0aw=96.0, Yoan=3-6, Yoa e 27 -2, Yoaw=90.0, Coay=Yoaw: Yoan=25.0
L*taN=24.8,L*tau=59.1,L*taw=95.1, Yian=4-3, Ytau=27.2, Ytaw=88.0, Gay=Ytaw: Ytan=20.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 92, g%5= 90 g%= 99, g%5= 99
L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr:L*a Al*a L*tr Yta (L*r) V103 *a Al*la
1007 (D9 96.0 1.0 00 1.0 951 10 880 10 961 __
8 86.8 0.87569.6 0.76? 86.1 9.0 0.87168.2 0.875 86.4 68
751 7 77.6 0.75 525 O.56§ 77.1 . 0.74351.7 0.751 77.6 8.8
6 68.4 0.62538.5 0.403 68.1 0.61538.1 0.625 68.8
@5 591 05 272 0.2713 59.1 z:z 0.48827.2 05 60.0 ::
50+ @4 49.9 0375184 0.1711 50.3 8.7 0.36218.6 0.374 51.2 8.8
@3 407 025 11.7 0.09;4 415 . 0.23712.2 0.249 423 8.8
@2 315 012569 0.038 33.0 0.116 7.5 0.125 33.6
57 @1 223 00 36 00| 248 00 43 00 248 0
identical  rgb*Or rgb*'tr (rgb*tr) 1/1.03
o AL*55=9.2 (i=1,2,...,8) normalisation: Yiaiuy=Yoay o021 Yoret
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